Mesures de Trapeze (D)

Calculez les mesures manquantes pour chaque trapeze.
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Mesures de Trapeze (D) Réponses

Calculez les mesures manquantes pour chaque trapeze.

;ij

14,7 mi 2. o
Rt
O 25
—_ g
w =
% = § -
2 E. o 2
i ~ L 2,4 mm - 4
[l z
6,3 mi E
P =51 mi =
A = 138,6 mi? o
Y
P =118 mm
A = 7,32 mm?
4
) ) 1q
)8 ’1
4a 42,
g
~ oo
\.m =
()] [\ =
s o~ [] 12,6 km =
(- [] =
9,6 km
&>
P = 31,1 km N
A = 51,36 km? O
P = 55,7 km
A = 154,35 km?
e 6. 4,7 mi
“ H
g -
o =
— o ™
: 5 0
] 14 cm O E .
4.8 mi
\ P = 22,7 mi
47 A = 29,925 mi®
P =54cm
A = 167,3 cm?®

MathsLibres.com




